Concepts of Programming Languages

Homework 2
Deadline April 13
1) What are the weakest preconditions for the following program segments?
Assignments
a = 3 * (c – 2) {a > 0}

b = b + 6 {b > 2}
x = x + y + 5 {x > 6}
Sequences
1) 
d = a + 2;

a = d – 6 + a;


z = a + 4; {z > 4}
2)
t = 2 * a;

a = b;


b = t / 2; {a == 1 and b == 0}
Selections
1) 
if (a == b)



b = 2 * a + 1


else

b = 2 * a; 
{b > 1}

2)
if (x < y)



x = x + 1


else

x = 3 * x; 
{x < 0}

3)
if (x > y)


y = 2 * x + 1


else



y = 3 * x – 1;


{y > 3}
4)
if (x > y)



c = x * 2 + 4

else



a = x + 4;


{a > 4 and c < 6}

5)
if (x > y)



e = x * 2 + 4


else



f = x + 5;


{f > 4 and e > 6}
